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5.  Hol7}50.24cm? ] Y] AF2 E cmQI7H?

8
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wreba] golrt 7 2 92 @YdYrth




24.

AL Fglo] A7) Fehes
HE LEe] 2ol ¥ em
T 2.

gy ket 2 AAzgo] |
917] 231 9] Yoli= <lntel ] 2]

10ecm —
=»
| S
> © cm
> = cm?
[> ®EH: 314cm
> e 314cm?

(RELT)= (879 1)

—10x2x3.14 + 2 = 31.4(cm)
(9] Hol) = (A2 el yo))

= (89 WAF) x (879 )

=10 x 31.4 = 314( cm?)

Sy,

=



| 2
> HME: 314cm?

1
20X 20 X 3.14 X - = 314(em?)




26. the =3L U ARt o £ Yol FokAlL.

1
(9x9x3.14) x 7 = 63.585( cm?)




27. %ﬂ%NMmﬂ%ﬂiﬂﬁﬂéﬁcMQQﬂ?

| 2
> ®eh: 12.56 cm?

@ﬂ%ﬂhmﬂ%ﬂﬁﬂwi

1
:(4X4X3‘14)XZ

= 12.56( cm?)




St 9] Zdo]7} 8 emQl AAFZEH Qtof Eol7= Q9] Hol& JL5HA L.

¢ L
)

> HE D 50.24cm?

> &




2 U7

~--2512cm-- "

~
~

16 cm

> He

‘ 25.12x 2+ 3.14 = 16( cm)




30. o] HolE oA L.

>
> HEH 153.86.cm?

0

(9] Wol)=(A12)x (3121 2)x3.14
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